means “marny angles.®

A polygon cannot be an

open figure. Each side
in & polygon must meet

to form a vertex.

i

This is not a polygon.

The plural form of
vertex i verfices,

A regular polygon has
sides that ace the same

length.

()

An irregular polygon
has sides that are not
all the same length.

y =

A polygon always has
the same number of

sides and angles.

A polygon is a dosed figure formed by line segments.

tach line segment is a side of the

polygon. Where two ades meet, they -~ vertex
form a comer, or vertex. tach vertex ’
in a polygon forms an angle. Aroc

Polygons are diasafied by the number of sides they have.
A triangle has 3 sdes. A quadrilateral has 4 sides.

AN

A pentagon has A hexagon has An octagon has
ides ides. 8 sides.

OOC

What type of polygon is shovwn bedow?

Count the number of 9des: 6

A polygon with & sides 1s a hexagon. S0 this polygon 5 a hexagon.



Read each problem. Circle the letter of the best answer.

SAMPLE which figure balow is @ polygon ¥
D o O
The correct answer s DL A polygon is a closed figure with line

segments for sides. Choices A and B are open figures. Choice C has
a curved edge. Only cholce [ is a polygon.

1 what ype of pobgon & the figune below? 4 which figure below is ket a polygon?

“ O
A octagon C pentapon ¢ & ? 4>
B ouadrilatera D ftriangle
2 Which figure below is an octagon? 3 What type of polygon & the figure below?
) O C U I\
. <:> o i "_-, A triangle C pentagon
B ocagon O quadnlateral

3 wWhat type of polgon & the figune below? b How many sides does a hexagon have?
A4 C 6

BE % oD B

A hexagon C  pentagon
B oquadrilateral O iriangle
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Read each problem. Wirite your answer.

SAMPLE what type of polygon is formed by the sign? Explain.

Sorssesr

{ The sign has 8 sides, so it is am octagon

T Eit possible fo driaw & polygon waith only 2 line segrivents? Explain.

8 Camila uses toothpicks o make a tnangle, a quadnilateral, and a
peentagon. How many toothpicks does dhe use in &ll? Bxplain

9 i the space below, draw a2 pentagon.

10 wendy wants o diaw @ pobepon with 4 vertioss and & sides. Explain
wihy this is mot possible

|  UNIT 8
Geometric Shopes
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